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QUESTION 1

You have a requirement for not processing an element entry based on a specific condition that will be evaluated during
payroll run. 

How should you achieve this? 

A. You write a calculation formula with the condition so that the element is not processed when the condition is
satisfied. 

B. You cannot meet this requirement because once an element entry is created, it will be processed all the time. 

C. You write a validation formula with the condition so that the element is not processed when the condition is satisfied. 

D. You write a skip rule with the condition so that the element is not processed when the condition is satisfied. 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E60665_01/globalcs_gs/FAGPI/ FAGPI1635416.htm#FAGPI1511389 

 

QUESTION 2

How should you configure the predefined payslip report to meet your customer\\'s payslip requirements? 

A. Modify a copy of the seeded payslip template and use it in a copy of the seeded payslip report 

B. Rename the seeded Payslip report and edit the content within the seeded template 

C. Payslips cannot be configured and must be built from the beginning 

D. Open the seeded Payslip report and edit the template 

Correct Answer: B 

 

QUESTION 3

You notice that the Cost Center segment, which is defined using Manage Department Costing, has not been populated
for an element in the costing results. 

What are two reasons for this? 

A. There is no costing option defined for the element. 

B. The costing type is defined as Distributed for the element. 

C. Element is at Payroll relationship level and the costing type is defined as "Costed". 

D. The costing type on the element is defined as "Fixed Costed". 

Correct Answer: AB 
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QUESTION 4

You need to enter bank account details for the employees within your company. 

Which task should you use to do this? 

A. Manage Third-Party Person Payment Methods 

B. Manage Personal Payment Methods 

C. Manage Element Entries 

D. Manage Organization Payment Methods 

Correct Answer: B 

 

QUESTION 5

Your customer pays their workers on a semi-monthly payroll frequency. To save costs, the customer is changing their
company policy and effective from 1st January, all workers will be paid on a monthly. 

What action should you take to implement this change? 

A. Create a new monthly payroll definition and transfer the workers from the semi-monthly payroll to the monthly
payroll. 

B. Create a new monthly payroll definition, end date the workers employment records associated with the semi-monthly
payroll, create new employment records for the workers and associate these to the monthly payroll. 

C. Navigate to the semi-monthly payroll and update the Date Paid field on the payroll time periods to reflect the new
monthly payment dates. 

D. Navigate to the semi-monthly payroll and update the Start and End Dates on the payroll time periods to reflect the
new monthly payroll period dates. 

Correct Answer: B 
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